&P
addazay

13th Oct. SSC Reasoning Sunday Mega Quiz (Questions)

Directions (1-2): In each of the following questions, select the related word/letters/number from
the given alternative.

= R T il & T et § 9 gt a8 F1 999 Fiera:

Q1.Yes:No:: Alive:?
gl =l Stifaq

(a) Life /sita=

(b) Live/sfitaa

(c) Dead/Ha

(d) Funeral/ 3ifa® H&F1T

Q2. Today : Day before yesterday : : January : ?
AT : & q T I g o2 Sy

(a) December / feaw=™

(b) February/ ®¥a<t

(c) November / A€

(d) March/ 919

Q3. Ais B’s daughter. B is C’'s mother. D is C’'s brother. How is D related to A?
A, BFR 8. B, CHI AT §. D, CHT ATS 8. D, A ¥ e e wsifera g2

(a) Father/ faar

(b) Grandfather/ aTaT

(c) Brother / ATS

(d) Son/q=

Q4.Pis Q’s brother. Ris Qs mother. SisR’s father. T is S’s mother. How is P related to T?
P,Q#FT AT 8. R, Q#AT AT §. S, R%FT QT §. T, S it Wt &. P, T & Forer o< wsifedra 72

(a) Grandfather / aTaT

(b) Great grandson/ Y91

(c) Grandson/dTaT

(d) Grandmother/aT=r

Q5. Ais B’s brother. Cis D’s father. E is B's mother. A and D are brothers. How is E related to C?
A,B#FTWTE 8. C,D &1 fAar &. E, B AT 8. A 3fiX D 9T< 8. E, C ¥ 79 y=e "«faa g2

(a) Sister/ sTg

(b) Sister —in-law/f&¥Fex z &t

(c) Niece/sTeTstt/ATSTt

(d) Wife/q=T
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Q6. If ASSIGN is coded as SASING, then KIDNAP is coded as

a3 ASSIGN FT SASING Ffea faT StTaT €, ar KIDNAP &t faFe &7 § gfea B strgam?
(a) IKNDPA

(b) IKDNPA

(c) IKDNAP

(d) IKAPDN

Q7. The word ‘UNITED’ is coded as ‘SLGRCB’. How should the word ‘DISOWN’ be coded?

7fX ‘UNITED’ #¥ ‘SLGRCB’ ¥ &9 # Ffeq famT Srav &, ar ‘DISOWN’ it far wavre gife famam stramr?
(a) BGQMUL

(b) CGRLTK

(c) CGRTLK

(d) BGQLUM

Q8. Which one set of letters when sequentially placed at the gaps in the given letter series shall
complete it?

T T et # & *i a71 fAeer Rt seer it @ Far 82

ca_bd__ec__fd__ge

(a)b,c,d, e

(b)b,d, c, e

(c)b,c,ed

(d)d,b,ce

Directions (9-10): Select the missing number/ letters from the given responses.

& TS SEAT | AT IS AT Do

Q9.8,17,36,75, 7
(a) 154
(b) 124
(c) 174
(d) 144

Q10.1,3,4,7,11, _?

(a) 18

(b)17

(c) 15 S

(d) 16 Special Offer
Q11. Find out the odd word/letters/ number/number pair from the

given alternatives. s S c C P 0
Ru o faweat ¥ & fAwy erse/at/aeaT &1 999 w1 TIER-II

(a)Pond - Lake/ aTeTe - e

(b) Pistol - Gun/ T4=dT - 5g®

(c) Car - Bus/ &1¥ - a9

(d) Church - Monument/ 9% - ¥qTLH

10 Full-Length Mocks

Validity : 1Month
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Q12. Find out the odd word/letters/ number/number pair from the given alternatives.
R o et ® o R ersa/at/AEET # 9e wY

(a) Insurance/ 9T

(b) Provident Fund/ wferer fafer

(c) Salary/ aa=

(d) Shares/ 9rIT

Q13. Find out the odd word/letters/ number/number pair from the given alternatives.
e o famwedt & & A srea/af/aeaT T =39 ¢

()27

(b) 64

(c) 125

(d) 144

Q14. Find out the odd word/letters/ number/number pair from the given alternatives.
o T faewedt § & faww srea/aol/deaT T 999 Y

()52, 68

(b) 63,77

(c) 64,80

(d) 50, 66

Q15. L. Fis the brother of A./ F, AST TS %’
II. C is the daughter of A./ C, A EAlCEAl %

I K is the sister of F./ K, F#T g &

IV. G is the brother of C./ G, C FT WTS %

Who is the uncle of G?

G F 3 I g7

(a)A

(b)C

(0K

(d)F

Directions (16-17): Given below are two matrices of 25 cells each containing two classes of
alphabets. The columns and rows of Matrix I are numbered from 0 to 4 and those of Matrix II from
5 to 9. A letter from these matrices can be represented first by its EEVISES a2
row number and next by its column number. For example ‘C’ can be Bilingual @
represented as 12, 24 etc. Similarly ‘A’ can be represented by 56, 68 V!
etc. In the following question identify one set of number pair out of
a, b, cand d which represents the given word. D E L H I PO L I C E
= 25 FHITAFTAT F v Afera & OH T 7% § 7 a1 6 e g

fau e . 5 ¥ Head Constable
ARF-IF 0T 4 T GAT T TS g iR S R A I 5T 9 a5

TEqTT &Y TS §. T 991 Y g2 St i< gy e 3w wew gra edarsm 1S FULL-LENGTH MOCKS

qHAT 8, ST & o 'C' & 12, 24 31f< F €T | FATAT AT GhaT g, T4
T 'A' & 56, 68 AT T IATAT ST FhalT gl A1 Aaforfea v srsae e sty Il enite

3 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/3182/Delhi-Police-Head-Constable-Clerical-2019-Online-Test-Series

Matrix-I Matrix-I

0|1 12 |3 |4 5|6 |7 |8 (9

0|/N|K|R|C |B 5(0 A |l |U|E

1 /R |N|C|B |K 61 |E (O (A |UO

2|K |R |B |N|C 71A|O I | U

3|/B|C N |R K B|U |0 |A|E |I

4|C |B |[K |N R 9|1E |I |U |0 |A
Q16. NIKE

(a) 34, 75, 01, 95
(b) 23, 69, 24, 55
(c) 34,57, 24, 66
(d) 11,78, 34,77

Q17. ROAR
(a) 50, 67, 86, 02
(b) 44, 05, 98, 44
(c) 21, 67, 65, 80
(d) 33,55, 87,21

Q18. Rohan walks a distance of 3 kms towards North, then turns to his left and walks 2 kms. He
again turns to his left and walks for 3 kms. At this point he turns to his left and walks for 3 kms.
How far is he from the starting point?

g ST A o 3 e it T a7 Far g, (6 9 a1 A {71 ¢ 3 2 herreie a5 9«ar g1 98
e & 91U H{=aT g i 3 e & g 9@ 81 1 a8 9w 978 3K =T § i< 3 fhenHie a& 9«ar gl
a8 et &g & fovait g 87

(a) 5 kms / Frefiex

(b) 3 kms/ fFaTHIET

(c) 2 kms/ fFaTHIZT

(d) 1 km/ FFrerreiex

Directions (19-20): Which one set of letters when sequentially placed at the gaps will complete
the given letter series?

RT T 0 @t | HqU I AR €T & T AT I T HT B 9T 9 56 T HIM?

Q19.ab_cabb_abb_ab_c ENGLISH

(a) aabc

(b) aaab

(c) accb

(d) becb SSC PUBLICATION

Q20.abc_bc_abcc_a_cccc PRIME

Eg 20 SSC CGL |CPO | CHSL & Others
abbc

(c) beca 7 Printed Books

(d) accc
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Q21. A's weight is more than the weight of C, and A has the second highest weight. E weighs more
than A. B weighs more than D. Who is the heaviest?

A FT IS C F T 4 AT , 3T A FT X SFAH a9 ¢l E F7T a9 A & 1f8= 81 B #7 a9 D & s(far &
qag AT AT 872

(a)B

(b) D

(c)E

(d) A

Q22. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

T HEAT 1 TS, & OaH TF o 97 & gt 2w 1 et § & 3@ e &1 =3 w3 § S 59 S|er wi

T HGIM?

HK, ?, PQ, TT, XW
(a) LN

(b) NO

(c) LK

(d) NM

Q23. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

TF S@dT &t T2 g ot o sr=ra § sraa iR v et # & 59 faseq 7 999 F3A7 § S 560 5@« T
T HM?

JN, OR, UW, BC, ?

(a) KM

(b))

(0 JK

(d) K]

Q24. Nikhil is 8 yr younger than his brother Rohan. How old will Rohan be when he is twice as old
as Nikhil?

At sroa a1 T & 8 a¥ Fier 2. o1+ Vg e & Do g simovm av a8 s a1 g ?

(a) 4 yr

(b) 6 yr

(c)8yr
(d) 16 yr

Q25. From the given alternative words, select the word which
cannot be formed using the letters of the given word: A

RT g el | ¥ 9153 I9 U581 FI9 L o9 I MY 9167 F TN A
SYART HTH gl TS FRdT ST Thd T gl

ORGANISATION .
(b) NATION C

(c) GIANTS
(d) ORANGE

PREMIUMPLUS
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Q26. If EARTHQUAKE is coded as EKAUQHTRAE then ELECTORATE will be coded as ?
af EARTHQUAKE #I EKAUQHTRAE % &7 # for@T SiTar § af ELECTORATE &g w&= foraT sraem?

(a) ETAROELECT
(b) EARTOTCELE
(c) ETAROTCELE
(d) ETAROCTELE

Q27.1If a denotes x, b denotes +, c denotes + and d denotes - ,then8a3c24b12d19=7?
it a‘x’ FIATATR, b ‘+’ F IATATE, ¢+’ A IATATF M d - FrI9Taqrg, r8a3c24b12d19=7?
(a) 17

(b) 7

(c) 14

(d)8

Q28. Given equations are solved on the basis of a certain system. Find the correct answer for the
unsolved equation on that basis:

TS AHIH T [T qoreht & g fFg sma 81 S+t smeme 9% iR 1w =< faseat & & wr ¥ forw w8t sw)
T fafe)

2+4+6=48and

3+2+8=48,

then2+5+7=7?

(a) 48

(b) 70

(c) 14

(d) 59

Q29. Select the missing number from the given alternatives
TR g fashedi & & STy HeAT T 5q L.
28 20 ‘ 7

84 | 35 | 12

45 ? 9
(a) 19
(b) 22
(c) 26
(d) 25

Q30. If North is called North west, West is called South west, South
is called South east and so on. A person walks straight from South Rz TS
west to North east and then turns left. Walks straight and again
turns left. Now at what direction he is facing? A

7T I T ST IR FgT FTaT &, TR ¥ gferor afSm wgr srar &, af&or o,
R T¢I ro Ty e S cBOOKPLUS
"I SAL GE T A FqaT g 3 F/T 10 {2 S g1 Hem 9rar g i foe &
1T £ SATAT g 1 384 fohg feem it A q@ v @ra?

(a) South/aferor

(b) North east/wtﬁ

(c) North/3<X

SSC
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(d) South west/zfaror afarg
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